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—25in60° + V3 tan45° X tan 60° = #|

® 3-+3 @?—3
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o2 Oy 3 2ol PT & #5294
o]7} 20cm ¢ Y O ¢ AHAo|t}h
/BPT = 60° € uj, AB 9] Zo]
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/C 7} A zFel A Z-ArZ+e ABC oAl AB
(sin B + cos B) (sinA — 1) &] 3127
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The F0l EE B x4y o e FoIH?

2te sin cos ‘ tan

14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493

@ 28° @ 29° 3 30° @ 31° ® 32°



e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355



11. t& 1239 AABC 94 AB =
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12. o 294 BAC = 90°, BC L AH ©]1 /HAC = x 2 &

tan x 9] Fr27
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15. cos60° x tan 60° + sin 60° = AHAFSHH?

D 2 ® 3 3 2 @ 242 G 24/3



16. sin3x=cos45° 4 o, x O] 27 (T, 0°<x<90°)

D 15° ® 20° B) 25° @ 30° B 35°



17. ohg 782 o185k tan15° o] G FoHH?
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20. thg TelA AABC 9 WolE w7

A
49°
.
B~< P
“~-10em -~ ¢
(M| &)

T sin © cos tan z
49° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97

@ 33cm? @ 37cm? ® 45cm?

@ 72 cm?2 B 90 cm?2
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sin A + 2cos A
sin A — cos A
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